EARAROBEEIERT — 2 N— IBISH —F

2012858128 (£) 3EKR4H

m C2+m##E Cc24m 45%—# (w8 | mEmml - |5 @) o s
[A&4£] 1 7% :100,000  ~ 23#&:20,000”  33%&:10,000 M  43#&:7,000H ~ 53 :3,000H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. AR .05, —5-5- . — RINRE (KiR)
1178 | EVT UL i 4 an 1(2_5)4 5-5-5-5 | 40.2 2 ;1_13 YlEE G
R:7yv3Is—L BYHERHIS BH# fEt
oo _ =Y/ :25. ~4-4- . — 12 ARBEl (KR
olgliol N> F— by FFa H o4 e 1(/35; 4-4-4-3 | 40.4 6 (4_845) et
LI7IIRL BVLZTIT— N T — i
3 4| TEIVZF A8~ i o4 g‘_ﬁg%@ (172;74) 2-2-1-1 |40.6| — 1 469 %é;ﬁmﬁu (7iR)
QRBTT M- — = K BANSATEY 02| Ty
< N LA : —1-2- — 1EERE (BRE)
4 3| I rEYT it 4 o 1.(246).1 1-1-2-3 | 41.3 3 ?:325) S
RBALINS Ry IR BiYRTINAF— =H st
5 i 4 5 | ZHERES 1:26.1 7-8-7-7 |40.3| — 9 526 | RIIRE (KR)
5/8|9 ZTA—=hT7— 53.0 (5¥) (+1) (B) A—2457
LAy g—TO7058— B:HxvavLitia EEHIS
3 . i 7 | ERRE 1:26.3 6-66-6 | 40.9| — 5 388 | MRSt (E&ME)
6l7l7|1T>¥/B-X 53.0 (3/4) o |B=
R:vv¥/ by THY BTFRIAA=Y Pal:bie)
— o= e i 5 | BRERE 1:26.3 9-9-9-8 |40.2| — 8 432 | BF=— (KR)
715|5|=¥/77E7 %052.0 (7E) 3) | _B) F=24r7
x4 xNTT B:ZV/TUR Gieflipae]
= = 4 | BREE :26. -3-2- . — #HEE (KR)
Wel75274= 45 S Il R B I b o
R:pYREITO—Y) B:hxeHALU—F AR EBL
. A 4 6 | FNIE 1:27.3 10-10-8-8 | 41.3 | — 7 554 | ERAS (KiR)
9l1l1|7>N—bx2T 55.0 ®) -2) E(ﬁ) A—ZHT
R:Za—-A>95>F B:hr—Y—k—7 2 e ]
s ;s s 4 | ROB— 1:28.4 7-7-10-10 | 42.4 | — 10 | 452 |fEBEtR=] (KGR)
EH 2 | TFHAT TR 53.0 ) 1) | B x=257
R:T7LERTAvITA N BT T =) — F—L— - Tx/8> - T7—LBERE
® 1—F—@EBIERL
1T=7r= 3,4,6,10,8,7,(2,9),5,1
2a=5F= 3,4,6,10,8,7,2,9,5,1
Ja=5= 4,(3,6),10,8,7,9,1,5,2
43—+ — 4,6, (3,10),8,7,9,(1,5),2
[ N5
B 8 590H 714K 8-10 1,110 e E 7-8 3,470M JEE 4-8-10 2,090M
B B 8 130H4 4-8 140H B = 8-10 6,580 JEE 8-10-4 29,130H
10 400M 4-10 810M B H 8-10 10,990M
4 1009

ABICOVWTRDTEEERROODE. TR LIV,




